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Read the following instructions carefully before you open
the Question Booklet.
1. Immediately after the commencement of the
examination, you should check that this test booklet
does not have any unprinted or torn or missing test
booklet series (A/B/C/D) oritems etc. If, so, get it
replaced by a complete testbooklet from the invigilator.

2. Answers are to be marked in the given OMR Answer
sheet.
3. There are 60 questions in this test booklet. All are
compulsory.

4. Choose the correct answer from the options given for |
each question and darken the corresponding circle with
black ball point pen in the OMR Answer Sheet. Do not
mark ‘v’ or ‘X’ in the OMR sheet.

5. Allquestions carry equal marks.

6. Answers other than those marked by Black Ball Point
Pen will not be evaluated.

7. Rough work can be done in the rough sheet appended
in the test BOOKLET at the end but not in the OMR
sheet/loose paper.

8. The answer sheet is not supposed to be folded or
mutilated in any way.

9. You are also not supposed to write anything on the
reverse of the answer sheet.
10.Please return the OMR answer sheet only to the

invigilator after the examination. You can retain the
test booklet.

PLEASE TURN OVER THE PAGE AND START
ANSWERING.
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Poona Pact was arrived between :

(A) Gandhi and Jinnah
(B) Gandhi and Subash Chandra Bose

(C) Gandhi and Ambedkar
(D) Gandhi and Mountbatten

The oxidation number of Mn and Cr in
K,MnO, and K,Cr,O; are, respectively,

(A) +4and +6
(B) +6and +4
(C) +5and +6
(D). +6 and.+6

There are four statements given below :

(1) Ionic bonds are usually stronger than
covalent bonds.

(2) Covalent bond is weaker than a
hydrogen bond.

(3) Coordinate covalency is due to sharing

of only one atom’s electron with other
bonded atom.

(4)  Valence electrons are not involved in
chemical bonding,

The correct statements are :
(A) (1) and (2)
(B) (1) and (3)
(€©) (2) and (3)
(D) (2) and (4)
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Who formed the Swaraj Party in 1923 ?

(A) Bala Gangadhar Tilak

(B) Motilal Nehru and C.R. Das

(C) Lala Lajpat Rai

(D) Bhagat Singh and Sukdev

Which document contains a note on the list
of export articles shipped from India to the
Roman Empire ?

(A) " Peutingerian Table
(B) Vienna Papyrus
(C) Ambherst Papyrus

(D) Bodmer Papyrus

Who led the Salt March from Tiruchirappalli
to Vedaranyam in Tamil Nadu during the
launch of the Civil Disobedience Movement ?

(A) M.C. Rajah
(B) Mahatma Gandhi

(C) C. Rajagopalachari

(D) M. Veeraraghavachari

CMTSE-2023-1l / B 3 P.T.O.
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7. QLIS @GO WL  Lwier- Which of the following is not included in the
u@ESH Qurss eapr( 2pusdemws calculation of GDP, using the Income
sansS[Heude 196meumHelaTaUDmIET 6T Approach ?

GergssLuLeleoeme ?

(A) exmdwibd (A) Wage

(B) aurLens (B) Rent

(C) eulig (C) Interest

(D) Q&ﬂ"é}gﬂ cuifl (D) Wealth Tax

8. Wemeumeuanaupenn QuUIrmSSeyLD : Match the following :

Comi Crmi Disease Causative agent

2 eIL &G sryenfl

(a) wGafwmr () QpuCLr® (@) Malaria (i) Nematode
(b) evumii® i) yCrr CLnrGsreur (b) ‘Typhoid (i) Protozoa
© Qg (i) wrSeflwr (). Dengue (ili) Bacteria
(d) ool NCafwmr (iv) emeuren (d) Filaria (iv) Virus

GO Code :

(&) (@), (-G, (©-Gv), (d)-6) (A) @), (o)), (©)-v), (@)-6)

B) (@), (B-Gi), (©)-() (d)-i) B)  (@-6v), ()G, (-6 (d)-(i

(©)  (@)-(id), (b)-(), (c)-(iv)s (d)-(ii) (©) (@)-(iid), (b)-), ()-(iv), (d)-(ii)

(D)  (@)-(i), (b)-(iv), (c)-(i), (d)-(iii) (D) (@)-(ii), ©)-(iv), (0)-(i), (d)-(iii)

9. Qeneupeuenalmmer erpg anmiGLome Which of the following hormones is secreted

sTiu sragdle HnBmien sysdng ? through the urine during pregnancy ?

(A)  yGrmllgeig Fmey (A) Progesterone

(B) @nligerendlit anriGomes (B) Luteinizing hormone

Q) seurdlsdletsenend glawr (B b (C) Follicle stimulating hormone
anmiGLomen

(D) wailg ' . C‘Sa’;rrﬂu_;eoﬂé; (D) Human chorionic gonadotrophic
QaremmGLm_Cymé anriGlome hormone
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P,Q, R, S, E, F, G and H are the vertices of a
cube as shown in the figure. The edges are
made of copper wire. A current of 1A is sent
in at the vertex P, and a current of 1A is
drawn out at the vertex G. The arrows show
the direction of the current in each edge.

P Q
The current through the edge EH is :

(a) A
® A
© A
@ A

Pith - the central part of the ground tissue is
generally made-up of :

(A) Parenchyma
(B) Collenchyma
(C) Mesenchyma

(D) Sclerenchyma

P.T.O.
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A block of wood of volume V and mass M is
floating in a tank of water. An iron block of
volume v and mass m is placed on top of the
wooden block such that the wood alone is
fully submerged in the water, and its top
surface coincides with the water surface, as
shown in the figure. Let d be the density of

water.

iron block

—

[T WAy [T wooden
block

Which of the following is correct ?
(A) M+m=Vd
(B) M—m=Vd

M+
©) 2m -vd

(D) M+m=(V+v)d

An Indian born Scientist was awarded Noble
Prize in Chemistry for the year 2009 for his

work on :

(A) Insulin

(B) Mitochondria
(C) Ribosomes
(D) Hepatitis
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Constitutional

The 73rd and 74

Amendments emphasize the following form

of government.

(A)

(B) Local-self government

Parliamentary form of democracy

(C) Constitutional republic
(D) Presidential-federal
Match the following :

(a) Ethiopia (i) Boer war

(b) Pretoria (i) Pedro

(c) Vietnam_ (iii) ~Mussolini
(d) Brazil (iv) White Terror
Code ¢

(A) (a)-(iid); (b)-(i); (c)-(iv); (d)-(ii)
(B)  (a)-(iD); (b)-(iii); (c)-(iv); (cl)-(i)
(©)  @-(v); (b)-(1); (c)-(iii); (d)-(ii)
(D) (@)-(i); (b)-(iv); (0)-(i); (d)-(iii)

Which of the following is not included in the
calculation of GDP ?

(A) Sales value of scrap material

(B) Mangoes produced

(C) New cars produced
(D) Exports of grapes

P.T.O.
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17. 340 g of silver nitrate in solution precipitates

silver chloride upon reaction with a large
excess of calcium chloride. Assuming that
the precipitation is complete, the mass of
silver chloride obtained is :

(Molar mass : Ag=108 g, N,=28 g,
0,=32 g and Cl,=71 g)

(A) 1435 g
(B) 360 g
(C) 287g

(D) 180 ¢

Karst topography is formed due to the action
of :

(A) Glacier
(B)
(©)

(D)

Wind
Sea waves

Groundwater

Who among the following is not related to
the Dravidian reading of the Indus Script ?

(A) Asko Purpola
(B) Yuri Knorosov
(€) S.R. Rao

(D)

Iravatham Mahadevan
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Which one of the following districts ranks
lowest according to Human Development

Index ?
(A) Virudhunagar
(B) Ariyalur

(C) Thanjavur

(D)

Villupuram

The volume of 1.5 M phosphoric acid required
to neutralize 30.0 ml of 8.0'M solution of

sodium hydroxide is:

(Molar mass - N,=28 g and Cl,=71 g)
(A) 50'ml

(B) 25 ml

(C)+ 75 ml

(D) 20ml

Which of the following contributes to the
prevalence of high level of nutrition insecurity
among the children of India ?

(A) Low buffer stock of food grains

(B) Low level of imports
(C) Access to food

(D) Poor absorption of food

P.T.O.
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Which of the following is not correct ?

(A) Barter system flourished where
civilization thrived.

(B) Paper money replaced metal coins
because it functions better as a unit of

account.

(C) Electronic money replaces paper money
because it functions better as a unit of
account.

(D) Both electronic and paper money
function equally well as store of value.

The IUPAC name of the following compound
CH,CH,CHBrCH,COOH is :

(A) 3-bromopentanoic acid
(B) 3-bromo-5-carboxypentane
(C) 1-carboxypentan-3-bromide

(D) 2-bromopentanoic acid

Which one of the following is not a

fundamental right according to the Indian
Constitution ?

(A) Right to Religion
(B) Right to Equality

(C) Right to Constitutional Remedies

(D) Right to Property

: . : CS
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Which of the following countries had a
significant role in the Suez Canal crisis of
1956 ?

(A) Egypt and Britain

(B) Egypt, Britain and France

(C) Egypt, Britain, France and Israel

(D) Egypt, Britain, France and China

Among the following, indicate the personality
who was not a member of the Constituent
Assembly of India.

(A) K. Kamaraj

(B) Dr. S. Radhakrishnan

(C) C. Rajagopalachari

(D) Mahatma Gandhi

One mole of an ideal gas is taken through
the path E5F—-G—H-E in the pressure-
volume graph, as shown in the figure.

A
E . F
9y >
(% h Y
w
QL
& <
H G
»
O Volume

Which of the following is correct ?

(A) The temperature does not change along
E—F.

(B) The temperature changes along F=G

and also along G—H.

The temperature does not change along

H—-E. _

The temperature does not change

anywhere along the entire path

E—-F-G-H-E.

P.T.O.
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29, Gar® qeanhlen ePpllls B&EGL @
goalan HensGaus - CHT a@ruLSHd
STl LUl (eraruly, @@ el Lgglen
aumeare OPQ ean elyeusmss
Qaran@ererg. P eranug euemarallen
pHLIYyeTefl erafled,

A
-9
5
@
©
B
8 P
2t
O graon Q
glsaflan WpHESD
(A) O yerafllier slwrs 2 ereng.
(B) O wse P auenyuiler Cursgi_emn
< fsfsHng).
(C) P yemafluded sifluins o dreng).
(D) Q yeraflile @G@DHIUL LIS
2 _GTeng).

30. ENEEGEEL( uriuere] A LHMmID 7LD
r QeraTL @ el L augeu sl er
WBlengsenL p @D, UGS sl
MérarLig, L Hen erdli yeraflser P
opmb Q-&E GeLulemear  Wlears-
6L TGS
P Q

pr
& &

pr
(B) A

ad L3
© =
py et
D) 7a
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The velocity-time graph of a particle moving
along a line has the shape of the arc OPQ of
a circle, as shown in the figure. P is the
midpoint of the arc.

Velocity

P

-

O Time Q "
The acceleration of the particle

(A) is zero at the point O.
(B) increases with time from O to P.

(C) .dszero atP.

(D)

is minimum at Q.

A wire with area of cross-section A is in the
shape of a circle of radius r. The resistivity of
the wire is p. P and Q are two diametrically
opposite points on the wire, as shown in the
figure. The resistance between P and Q is:

P Q
(&
E_
B) S5A
zpr
© 5
zpr
D) A
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Gletr @MU LU L QUITE(ERET, geum BT
apeopuiled CarpogsHEsILLL samaeui
wiir ?

(A) sulll eriGLraen

(B)
(C) @p&bwg s

apsLogl e gedLome
(D) wiGeue (pagmyL

Qereugneiareupmier erpg Bd ‘Samflen
W' erang mpssLiLBGEmng?

(A) BILST

(B) Gamgmreufl
(C) Gsrd

(D) a&nGongi

Wereumauanaummier erg waflls Guoib-

url @ @oilltgear em uGHurs
@eene ?

(A) SpyLsmed

(B) smieufl &&TSMTLD

€ cwspdley el

(D) eumenwo Hlenew

n=5 eranm (PSETEMLD (GG TETLLD

T QTEn QTS O FHTERTL- 63(1H Semi6ile) 2_eTar
AFsuLs 5160 6w & o (D & &l 6ot
eraranflEens.

(A) 5

(B)
(©
(D) 25

10
20
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Who among the following is the

democratically olected head of the state ?

(A)
(B)
©
(D)

Tayyip Erdogan
Mohammed Bin Salman
Muammar Gaddafi

Pervez Musharraf

Which among the following rivers is known

as ‘Sorrow of Bihar” ?
(A) Narmada

(B)
(©
(D) Damodar

Godavari

Kosi

Which of the following is not a part of
Human Development Index ?

(A)
(B)
(©
(D)

Life Expectancy
Maternal Health
Literacy Rate

Poverty Rate

The maximum number of subshells in an
atom with the principal quantum number

n=51is:

(A) 5
(B)
(©
(D)

10
20
25

P.T.O.
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Sflar wiLisd 1.0 /06 erafied, 12.0
Qurert QeMaplLlulL @anl Grr
@&Cermfld Sflas sTFedled evaml G-
GGemmilé <flasdear Flop sseisibd.

(e Guome Hy=2 Symb)

(A) 43.8

(B) 21.9

(C) 305

(D) 60.9

Wereumeuamaupenn GUMmSSeD

ReriGlLmEs auens QLA MY

umredleom (i) emamlgm

@ eruEumESLD

2 L @lerl- (i) &SmHYMSD

QUmHESLD

uredl el (i) elensd

QuU(m&SD S HETSHET
2 (HEUTSHED

WB(@h(Heurden (iv) Quri®
el Hse

G

(A)  (a)-(ii), (b)-(iv), (¢)-(ii). (d)-(1)
(B)  (a)-(iii), (b)-(ii), ()-(1), (d)-(iv)
(©)  (a)-(Q), (b)-(iid), (c)-(i), (d)-(iv)
(D) (a)-(ii), (b)-(iv), (c)-(ii), (d)-(i)

Geeumetareummer rSluweeaoliy
Fmihg siewliemus GCarhosHEsea]|b.
(A) @Bdwu sl o enemTiDd

(B) @ndw Cairsed <y emeanwiLd

(C) prmenwerm HlenedE(p

(D) &Ll () Brrm@hoenms @
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Concentrated hydrochloric acid s

approximately a 12.0 molar solution,
Assuming density of water to be 1.0 g /ml],
the mass percentage of hydrochloric acid in
the solution is :

(one mole of Hy,=2 g)
(A) 43.8
(B) 21.9
(C) 305
(D) 60.9

Match the following :
Type of Reproduction Example

(a) Asexual reproduction (i) Hydra

(b) Vegetative
reproduction

(i) Fertilization

(c)’ Sexual reproduction (iii) Spore
formation

(d) Regeneration (iv) Budding

Code :

(A)  (@)-(iii), (b)-(iv), (c)-(i), (d)-()
(B)  (@)-(iii), (b)-(ii), (c)-(1), (d)-(iv)
(€ @-), ©)-(ii), ()-(ii), (d)-(iv)
(D) (@)-(ii), (b)-(iv), (0)-(ii), (d)-(i)

Pick out the Constitutional Body in the
following.

(A)
(B)
(©)
(D)

Law Commission of India
Election Commission of India
Parliamentary Standing Committee

Joint Parliamentary Committee

CamScanner
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38. @@ i Bflar Qeuluflene 298 K

crafld, 1077 Guorager Cerar . &hHss
<blevd seneadlen pH L.

Gemeu(heuareupmIeT 2 U &m whHmin Qs
HTEIMILILEET @OTET) 6rg) ?

(4)
(B)
©
(D)

39.

wdlmbg ursleflwum
WS LTIy Qrés Seuliugn
dibs by e
Wélips eflng Clad

40.
(@)

Mlemeumeuameupenmls QuITBESSeLD
()

GUITITEIT
@ULBSLD
et Carm
QussD

HCwrells
GwEsLD

Hyeow@uwiib-
Cgmir

wrevGaT (ii)

(b)

© Bdsr (iii)

ClGIEELY
QU Cr &uLum
66L& EnEmT
&&&en

() (iv)

GHUI : |

(A)  (@)-v); (b)-(ii); (c)-(); (d)-(ii)
(B)  (@)-(iv); (b)-(0); ()-(i); ()-(i)
(€ (@-(ii); (b)-): ()-(v); (@)-(i)

(D) (@)-(id); (b)-(iv); (c)-(ii); (d)-(0)
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The pH of a solution with 10~7 Moles of
sulphuric acid in one litre of water at 298 K

is nearest to :
(A) 7

(B)
©)

6.7
6.52
(D) 7.48

Which of the following does not have Nucleus

and Cell organelles ?

(A) Mature Bacteria

(B) Mature mammalian RBC

(C) Mature Neuron

(D) Mature Sperm cell

Match the following :

(a) ~ The Diaspora (i) The Warsaw
Pact

(b) Moscow (i) The NAM

(c) Nikita (iii) Zionist

Khrushchev Movement

(d) Belgrade (iv) Cuban Missile
Crisis

Code :

(&) (a)-v); (b)-(ii); ()-(i); (d)-Gi)

(B)  (@)-(iv); (b)-(1); (c)-(iii); (d)-(ii)

(©)  (a)-(iii); (b)-(i); (c)-(iv); (d)-(ii)

(D) (a)-(ii); (b)-(iv); (c)-(iii); (d)-(3)

P.T.O.
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orésrQear &8 Gereumid  erfie
Dnﬁ_@l_eisr Q@ mfiLenLg?

(A) =Qufés gadu priHser

Qe

(B)

Ayresen

©)

(D) evGuuller

@ SHUALL s smellenr ojam)
erer Z womid Hlepm erar A @b, Q&
Qar_irfflurs g our foge), Som
fenga| OO ST AMH6e| Ldw-
awpfpE 2 Lu@ins. Qud <igmé-
smedlen 2w erewr WHMID Hlenm erew
wpeannGu

(A) Z-2,A-4
(B) Z-3,A-3
(C) Z-1, A-4
(D) Z-2,A-3

emeumeuaneupmier erg GQusuGLmdlwum
Breflasgen CAgsrryemwg ?

(A) @Gmwler LweLr®H
(B) emanCrrélefls oG er(psg wpeom

€) Awelurmd erpsgipern

(D)

sHar Qurben @rranielLd
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Jacobin Party was associated with which one

of the following nations ?

(A) USA

Britain

(B)

France

©)

(D) Spain

A certain atomic nucleus has atomic number
Z and mass number A. It successively
undergoes alpha decay, beta decay and
gamma decay. The final nucleus has atomic
number and mass number, respectively, given

(A) Z-2, A-4
(B) Z-3, A-3
(C) Z-1, A-4
(D) Z-2, A-3

Which among the following is related to
Mesopotamian Civilization ?

(A)

Use of Iron

(B) Hieroglyphic system of writing

(€) Cuneiform System of Writing

(D)

The Terracotta Army

CamScanner
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ylufer Cumurin9ambsg h girssa
Qme&Eweurg, ¢m Mop m Bg L
ClFanggb iy efens
Fe GMmI
(R +h)?

<AGW. @Bl G eranugy ity wrledl, M
eramugl Yullufler Hlenm wHmid R eremuig)
G YD, WenaumeuameuHmer 6THs
eflens-gnr euenpLILLD sflwrens)?

(A)

Az renea] e

(B)

Qgrenavay h

©)

O Qgrenava] g

(D)

Cgrenaey g

SEHETQLT WTAILLLD THE FTELIG&HE
Quuwir Cupmg ?

(A) eumenpUILILPID

(B) mOUPLD

(©) Ope

(D) wéasrECamerid
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The gravitational force exerted by the earth
on a mass m, when it is at a distance h above
the earth's surface, is given by :

_ GMm

"~ (R+h)?
where G is the gravitational constant, M is
the mass of the earth and R is its radius.
Which of the following is the correct
force-distance graph ?

Force F

(A)

O Distance h "

A

=
Force F

.

Distance h

F
&
©

L

O Distance h "

(s 9
3
® 5

O Distance h "

Thanjavur District is known for the
cultivation of :

(A) Banana
(B) Mango
(C) Paddy
(D) Maize

P.T.O.
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46. Gereumeuaaup@D QOSSN :
@) <Cumer (i) ST UTeme6uaLDd -
@S

) @ (@) WS s@rEHGD

uEs - Qs

© Sans (i) < eouven - oCrriur

(d) CGurmrrm (iv) rr&s ST -

LG wA&sT
©PIG :
(A)  (@)-(i); (b)-(); (0)-(v); (d)-(ii)
(B)  (a)-(ii); (b)-(iid); (c)-(iv); (d)-(i)
(©)  @-(v); (b)-(0); (0)-(idd); (d)-(ii)
(D) @-(); (B)-(v); (0)-(1); (d)-(ii)

47. 80 SigUUeL @Qamansamerd ©lsmeamL
g.eran.g-afler @ Gflelld 16
GEUTEHETEN CTESMISET 2 aTerar. @b
Gfleller eTHFHemern iiqeneren 6rFemhi&er
o_eireren ?

(A) 32

(B) 16

(C) 24

(D) 64
48.

9 60 G (I U U DHMIGT THS 606w L L L e
@Geopur@®.  sTwb  GewTen L eudld
THUDD STOSEH L6 6 b(1H&HE LM er
QarLyenLwg ?
(A) eweulLiblew D
(B) eveulLblewr C
(C) eveulLifen E

(D)

encul_L LOlest A
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Match the following :

(a) Foehn (i)  Thar Desert- India

Mediterranean Sea in

(b) Loo (ii)
Italy

(c) Chinook (i) Alps-Europe

(iv) Rockies-North

America

(d) Bora

Code :

(A)  (a)-(iii); (b)-(D); (S)=(iv); (d)-(i)
(B)  (a)-(ii); (b)x(iif); (c)-(1v); (d)-()
©)  (a)-(iv)s (by-(): (c)-(iii); (d)-(id)
(D) (@)(i); (b)-(iv); (c)-(1); (d)-(ii)

A segment of DNA containing 80 base pairs
includes 16 Guanine residues. How many
Adenine residues are in the segment ?

(A) 32
(B) 16
(C) 24
(D) 64

Which of the following vitamin deficiency is

closely connected to delay in wound
healing ?

(A) Vitamin D
(B) Vitamin C
(©)
(D)

Vitamin E

Vitamin A


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net

49. Gemaumd  prhseaied sl
SiTélwevebliy @dors BTl 6rg?
(A) Qe <pnAfss
(B) =Cwfés madu prHser
©) Wwrennrr
(D) w&dwul Guprs

50. WL&THLT &THE THEHHETEH SHMWLWTE
urdllLmr ?
(A) <irflwe sgpdro
(B) vuLErETWEF T
©) erdlueamoly GLywrs
(D) w&ser menpTwsLD

51.  Qeneumeuareupenm QuUITmESaLD :
LO6TBTL_ 60 LD

2_miuL
(a) Qefwrerd (i) meruire
(b) sPlay Bésib (i) s@EHLeLSET
() &eumsd (iii) ELe»
(d) @eruumésid (iv) HmBrsbd
GG
(A)  (a)-(1), (b)-(), (c)-(iv), (d)-(ii)

(B)  (a)-(i), (b)-(iv), ()-(0), (d)-(iii)
(©)  (a)-(id), (b)-(0), ()-(iv), (d)-(i)
(D)  (a)-(id), (b)-(iv), (c)-(1), (d)-(ii)

52. priby Geoeler o @rer. Grenelfl e

semidsatien CFueum®

(A) Qewedmper Lrasame aflenrey-
LB S5I5®

(B) Qewedper Ure|gme Cwgeur-
&GS

(C) Q&dd o L@FME PEETELE
Qevawssed

(D) mrioyewiey sLgHeow Geafl-
udl(Hgev
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Which one of the following countries does not
have a written Constitution ?

(A) South Africa

(B)  United States of America
(€©) Myanmar

(D)  United Kingdom

Mahatma Gandhi strongly advocated :

(A) Political Independence
(B) Panchayat Raj

(C) Constitutional Republic
(D)

Popular Democracy

Match the following :

System Organ
(a) Digestion (i) Lungs
(b) © Excretion (i) Ovaries
(c) - Respiration (i) Intestine
(d) Reproduction (iv) Kidney

Code :

(A) (@)-(i), (b)-(i), (c)-(iv), (d)-(iii)
(B)  (a)-(id), (b)-(iv), (0)-(i), (d)-(ii)
(©) (@), (b)-(i), (0)-(iv), (d)-(ii)
(D) (@)-(ii), (b)-(iv), (c)-(), (d)-(ii)

The function of Nodes of Ranvier in a neuron
isto:

(A)

Speed up propagation of action
potential

(B) Slow down the propagation of action
potential

(C) Connect the cell body with axon

(D) Release neurotransmitter

P.T.O.
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53. @@ Gwadu sLLE GelQwerns e
Ghws Qsreoee] f wEb. <ger
uaneTey T f/2 eafe, Ceendlenr
geflefasd eramenflen Hiy
(A) 1.20
(B) 1.33
(C) 1.50
(D) 1.75

54. ‘Qgarafipfwmeien GpmaerEsdlwid’
eram AMPSSULI(HEUS 6Tl ?

(A) smeflfl Qe
(B) warps Qe
(C) GCargmeufl QL
(D) Smegentm G

55. Qemeu(peuaeunenm QUMHSSEID :
anrrGonergsn ellemenaysen

(@) ensl GLrengell- (i) Qevewsgiemer
GoT& 6T L6

(b) uréedemser (i) &M@Y

SEi LTSGR

€ <y &fHenser (ii1). ~Gumreig b

d) <LHds (iv) MFwmrer
< LblevLDd Q& ellenaTa
GO
(A)  (a)-(iii), (b)-(iv), (0)-(D) (d)-(ii)

(B)
(©
(D)

(@)-(id), (0)-(iv), (c)-(i). (d)-(iii)
(a)-(iv), (b)-(id), (c)-(i), (d)-()
(a)-(ii), (b)-(1), (c)-(iv), (d)-(ii)
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A thin plano-convex lens has a focal length f,
Its radius of curvature equals f/ 2. Therefore,
the refractive index of the lens is equal to :

(A) 1.20
(B) 1.33
(C) 1.50
(D) 1.75

Which delta is known as ‘Granary of South
India” ?

(A)
(B)
©
(D)

Cauvery delta
Mahanadi delta
Godavari delta

Krishna delta

Match the following :

Hormones Effects
(a) Cytokinins (i) Stomatal
Closure
(b) Gibberellins (iiy Parthenocarpy
(c) Auxins (ili) Bolting
(d) Abscisic Acid (iv) Richmond Lang
Effect

Code :

(A)  @)-(iii), (b)-(iv), (c)-(1), (d)-(ii)
(B)  (@)-(ii), (b)-(iv), (c)-(i), (d)-(iii)
(©) @-(iv). (b)), (c)-(ii), (d)-(i)
(D) @)-(id), 1)-(3), (0)-(iv), (d)-(ii)
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56.  wWGraflwn wignésmeden GQunerswimer
sHfluss Aengay Gemaumd euflengwimed
QUPRSLUGHSADE).
0U?° = ,Het + X;

X = _1e0 +Y;

Y o A + ,He! wpmid ue.

SEGHHESET X HMID Y wpennGu,

(A) ggRa®™? wdHmID 4 Pa?!

B) oTh® oppid 4,Pa!

©)

23! - .
g1Pa®! LHmD ¢ Rn?1?

(D) ggRa®™? wpmid ;Th227

57.  Glemeu(meuaneumm e WpEaTes
glenpullen @ LGS WTs Goarss) erg)?
(A) @nré euaTiiLy

(B) smevmenL. GueTTLIL)

©

(D)

Caen Ceailiy

<G Heaawbd

58. enpGem9uwi  urdeflur  wHMID
QagWlearey sraly Geur (plg&&sEhsE
Qe Cuwren 2. M6y

(A) &l (Huifl eurpéens (pevm
(B) CGumiigui®se
Q) el (heawentl euTDEMS (PN

(D) @rigaerenre (&ToeTETelsD)
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The natural radioactive decay of Uranium
nucleus is given by the sequence

U = L He! + X;

X - _e¥ +Y;

Y - A + ,He? and so on.
The nuclei X and Y are, respectively,
(A) ggRa?® and o Pa?!
(B) ¢oTh®! and 4 Pa?!
(C) o Pa®! and. gRn?
(D) ggRa?® and ¢ Th?

Which of the following is not a part of
Primary Sector ?

(4)

(B) Raising Live Stocks

Prawn Farming

(C) Honey Gathering
(D)

‘Salon

The relationship of Rhizobium bacteria and
root nodule of Leguminous plant is :

(A) Symbiotic
(B) Competition
(C) Parasitic

(D)

Commensalism

P.T.O.
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20 5/69 GaussHed GCrrren srenevuded
QE@ILd HeET sarTludled o e U
5riiE (eneren) 2400 anii ey i
QararL  @adlow Cdeaeal@dns.
17 /69 Gaussdld pEGD G L WHS
SIS Mfr@é;@l.‘] Y eermed Q&s’ueﬂmgﬂ.
srhMe @adlular Geusb 340 §/e
carpre, wHWHEe Csdad BuF
Gl @b @alufer 6 euair.

(A)
(B)
©
(D)

2320 Qamnir_ah
2340 Qamil_ev
2380 Qamirl_av
2420 Qamil e

cuL. SQwflasreled 1767 <lb | 6Tl 6
LoyanQagaml sl Lmhiser Ghlsg Yer-
QU(HEUETEUMMIET 6TSH| 2 GTenLD ?

(A) L burt QummLlsEpsE euflser

NdssluLa.
(B) Cwfssreie 9D 1g 6ig
umLsmeT &G eSS mL-

ughHarar Qswenel &TWEIEE

gn@hulg Qslgg).

samanly, &THF, euaanLIL,&s,

Fu whmb Csuleme =&lw-

ander Bg @né@wnd efsear
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An ambulance moving on @ straight road at
a speed of 20 m/s has a siren that emits a
sound signal of frequency 2400 Hz. A 'Car
moving at a speed of 17 m/s follows behind
the ambulance. If the speed of sound in air is
340 m/s, the frequency of the signal heard
by a person in the car is :

2320 Hz
2340 Hz
2380 Hz
2420 Hz

(A)
(B)
©
(D)

Which among the following is true abou
Townshend Acts of 1767 in North America

(A) Tmposed duties on luxury items

(B)

Required colonies to pay for the cost o
keeping British troops in America

©)

Duties imposed on import of glas:
paper, paint, lead and tea

(D)

Insisted on colonies repaying the det
only in Gold and Silver
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